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Section A {10 x 2 marks)
ror each question, four options are given. Choose the corredt answar and write
its number (1, 2, 3 ¢ 4) in the bracket rrovided.

1. Nine thousand, six hundrad and nina written s & cumeratis
1) 6 908
23 & 990
3} 9 068
43 3809 , { )

2. How many hundrads ara there in 5230 7
1) 2
2} 23
2) 62
4) 623 ( S

1y 72

2) a2

3) 9 ‘

4 8 { )

4. What is the value of the digit S 7302 2
1) 50 cpess
2) 50 iens
3) =0 hundrads
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3. NOTAW F1AS S atinboara Lo o -
Andre A TAS L SnChers, His brotherhas 5 times as many stickers az Ardrow
HOW many mora stickare doas hig trother have? ST

S TR _— H
ty. now much did eaeh biw gst?
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10, Alan has 24 stamps. Bert has twice as manv stamps as Alan, _2fin has
18 stamps fewer than Bert. How many stanips do the childran have atlogethar?

a0
48
102 \
120 { )
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. Section B (9 x 2 marks) ,
fror each question, write your answér in tha tiox provided, Cive vour snswer in the unils
stated.

11. The sum of three numoers s 1000, If two of tha numbers are 125 and 496,
what is the third numbear?
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12, Whatis the missing nurnber in the table below?

1 ) T
| Number of tables ’i 300 4 | 7
% Numoer of legs | .2 16 _Ji 22 |
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13, The product of two number

'S {527,
if one of the numbers is 3. what is

s tha other number’s
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14, Arrange the digits 8, 9, 0 and 1 to form the smailest odd nuirber.
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I 1" A ™ "’\_
18 ) ‘\ / K ’/ \/ Q stand for 28 «irls.

N
How many aifs dg \ 7 ) N 2 stand foc?
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18. 4 bags of the cams Wng cost 14, Find the oo of
12 such bag
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13, Jans h&w‘s\:f-~ Batoana, After giving away 12 halloons and be Jing (()xm:
new ones, she has 80 Lu.z song How many balloons did she have akfirst's
[T B
; [ ballvons
j

{9 Wiry: 1o 4 o N ;,u - . s g 2, »
8. Kimis J e old now, i 3 vears' Hme, herfahec will he twics her Bge
How old s her 7 -
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Section C (4 x 3 marks)

Work out the foliowing sums carefully, Show sach step of vour work|
will be given for working and el
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slevant statements,

<L A salesman sold 5307 cars m Jdany

tary. He sold 824 tewsy cars in Fabiuary. How
many care did he sell i tha 2 months 7

21, Jane bought 5

times as meny pencils as Artrue, i
altogether, how

many pencils did Jars buy?

100 DO et ™ e
Gy bovant 42 Fancls
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Mrs Gopal baked 79 vookias, She gave 15 cookies to her neighbour and packad
the ret equally mio 8 boxes. How many cookies were there in each biox?

18 passengers ware g train, Another 51 passengers boarded the irain at the
next step. There wers 7 {imes s many man as womer in-the train now. How
Jany more man ihan woemen were there?
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